oo = == == ==[1[]

00000000000000oooonooo-0000000
0oO@oooon)

goo:

000 : 2022/10/18 12:51:05

oooo

O00000000001110100130 00000 011160270040 0000
oooooooooooooon

(O)oooooo

oooz03000000000000000o0o0gon

0000000000000 00o000oo000oo000ooo00oooUo0oooOoOoooon
O

(0)HOODOO1110100230 01110100 300 0 1110 110 60 0 1110 110 130 0 1110 110 200 O 111
0110270 0111012040 01110120 11000000000 090300 0120300 0000
O000ooooooz4000

(OHhoooOoobooDooooooooobooooo
(OHhoooooobooooooooooboooao

(0HOODOOODOODOOODOOd Chgtps://my.utaipei .edu.tw/tpec exeducation/index.html)d O
00000000ooo0o0oDoo0ooDooo-1 0000-0000000000D000000
00000000000 0000000D000000 0O (02-2311304041523)0

gbooobooboobgoooboboooboo

http://163.30.202.2 2024/5/17 10:37:09 - 1


https://my.utaipei.edu.tw/tpec_exeducation/index.html
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

